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Nimm eine Uhr und arbeite 10 Minuten an diesem Blatt.

9+ 11 = ___

5+ 2= 12 - 11 = ___

15 - 10 = ___ “ - oa- 17 - 15 =

14 + 6 = 8+ 11 = M+ 8= __

18 - 13 = 2 - 11= 8§ + 1= __

9+ 1M1= __ s+ 2- 15 - 4= ___

6 - 5= __ B3-10= 2+ 8= ___

172 + 6= ___ 2+ 8= 13 - 12 = ___

18 - 5= __ 20 - 10 = 6 + 12 = ___
17+ 6 = 1% - 10 =

1+ - 11

6
0+ =17 . 1=138 ]
18 - = 3 a1 3+_: 16
6+ =16 . e 11—_: 10
13+ =15 . 4- 10 1+12:—
13- __ =1 . - 12+_: 15
12+ =17 43 e g — - 12= 3

16 - = 5
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Nimm eine Uhr und arbeite 10 Minuten an diesem Blatt.

19 - 6= ___

9+ 1= __ e —

15 - 11 = ___ 5 3. M+ 2= __
6 + 13 = M+ 4= 16 - 13 =
6 + 14 = 18- 5= 19 - 14 = ___
16 - 11 = ___ 14 9- 3+ 4=
6+ 1= ___ 8- 6= 0+ 4= ___
16 - 1= ___ 19 - 1= 1% - 15 =

15 + 3 = 1 - 1=

_ - 2= 13 0= 1 7+—:8
15 + 5= _ s 3=10 14—_:11
- 4= o+ 3= 14 11-_:1
__+ 2= 16 e g 8§+ ___ =19
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Nimm eine Uhr und arbeite 10 Minuten an diesem Blatt.

o+ 6 = 20

% - 1= 1% - = 10

M+ 3= __ T+ 13- 14 - 4 =

18 - 4= __ % - 4= 8 + 12 = ___

18 - = ___ 9+ 1= % - = 12

M+ 6= ____ 20 - 10 = __+ 8 = 18
M- 1= 19 - 1% =

— =B M-10=__ 7+_: °
%5+ 5= __ 7+ 3= 14 - 3:—
- 4= — M+ 3= __ M-_: 1
o+ 2= 16 o 1 8§ + 11 =
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Nimm eine Uhr und arbeite 10 Minuten an diesem Blatt.

1% - 13 =
=13 15 + 2 = ___
8 + 10 = _ i 13-10 M+ 2= __
1% - 1M1= ___ o 4=10 12 - 1= ___
12 - 2= ___ 4 1=10 4 + 10 = ____
3+ 1= L 10=10 13- 1= ___
3+ 13 = 410 =19 13+ 2= ___
12 - 1M1= ___ . e=10 M- 1= __
ooz — 413 =14 Bt —
"+ 1= __ 14 = t=
18 - 4= 45
1

- 13 = 3

T F+ M=

S 20- ___ = 10

T 4+ 13 =

T 6+ 11 = __

S - 5= 13

T 12 - ___ = 2

T 7+ __ = 20

1% - __ = 12 % - 12 - 6 + 4i—

16+ 2= s g - 15 - 10 = ___



